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 BCOE-143  

BACHELOR OF COMMERCE (GENERAL) 
(BCOMG)  

Term-End Examination 

June, 2022 

 

BCOE-143 : FUNDAMENTALS OF  

FINANCIAL MANAGEMENT 

Time : 3 hours Maximum Marks : 100   

Note :  Answer any five questions. All questions carry 

equal marks. 

 

1. (a) What is financial management ? Discuss 

the objectives of financial management. 12 

(b) XYZ Ltd. has issued shares of < 100 each, 

< 90 paid up. The rate of dividend is 

declared by the company as 10%. The 

normal rate of return is 9%. Find out value 

of the share.  8 

2. What is lease financing ? What are the advantages 

and disadvantages of lease financing ? Explain 

different types of lease. 20 
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3. (a) What do you mean by capital structure of a 

firm ? Discuss Net Income approach of 

capital structure. 10 

(b) Explain different types of debentures. 10 

4. The cost of Machine ‘A’ is < 60,000 and Machine 

‘B’ is < 65,000. The life of both the machines is  

5 years. The cost of capital is 10%. The inflows of 

both the machines are given below : 

Year Machine ‘A’ (<) Machine ‘B’ (<) 

1 14,000 22,000 

2 16,000 20,000 

3 18,000 18,000 

4 20,000 16,000 

5 30,000 20,000 

 The PV factor of < 1 at 10% cost of capital for  

5 years is 0·909, 0·826, 0·751, 0·683 and 0·621 

respectively. Calculate Net Present Value and 

Profitability Index of both the machines.   20 

5. (a) Explain Residual theory of dividend. 10 

(b) What is buyback of shares ? Explain the 

methods and effects of buyback of shares.  10 
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6. What is working capital ? What are the different 

types of working capital ? Discuss the different 

factors affecting working capital. 20 

7. (a) Explain the various motives for holding 

cash. 10 

(b) Describe the different techniques for control 

of receivables. 10 

8. (a) Explain the factors influencing inventory 

management. 8 

(b) What is forfaiting ? What are the functions 

and features of forfaiting ?  2+10 

9. Write explanatory notes on any two of the  

following : 10+10 

(a) Credit Policy 

(b) Certainty Equivalent Method 

(c) Venture Capital 

(d) Arbitrage Pricing Theory 
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 ~r.gr.Amo.B©.-143  

dm{UÁ` ñZmVH$ (OZab) 
(~r.gr.Amo.E_.Or.)  

gÌm§V narjm 

OyZ,  2022 

 

~r.gr.Amo.B©.-143 : {dÎmr` à~ÝY Ho$ _yb-VÎd 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100   

 ZmoQ> : {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OE &  g^r àíZm| Ho$ A§H$ g_mZ 

h¢ & 

 

1. (H$) {dÎmr` à~ÝY Š`m h¡ ? {dÎmr` à~ÝY Ho$ CÔoí`m| 

H$s MMm© H$s{OE & 12 

(I) XYZ {b{_Q>oS> Zo < 100 àË`oH$ eo`a Omar 

{H$`m, < 90 H$m ^wJVmZ {H$`m J`m & H$ånZr 

Ûmam bm^m§e H$s Xa 10% Kmo{fV H$s OmVr h¡ & 

à{V\$b H$s gm_mÝ` Xa 9% h¡ & eo`a H$m _yë` 

kmV H$s{OE & 8 

2. nÅ>m {dÎmr`Z Š`m h¡ ? nÅ>m {dÎmr`Z Ho$ bm^ d hm{Z`m± Š`m  

h¢ ? {d{^Þ àH$ma Ho$ nÅ>m| H$s ì`m»`m H$s{OE & 20 
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3. (H$) \$_© H$s ny±Or g§aMZm go Amn Š`m g_PVo h¢ ? 

ny±Or g§aMZm Ho$ {Zdb Am` ÑpîQ>H$moU H$s MMm© 

H$s{OE & 10 

(I) {d{^Þ àH$ma Ho$ {S>~oÝMam§o H$s ì`m»`m H$s{OE & 10 

4. _erZ ‘A’ H$s bmJV < 60,000 h¡ VWm _erZ ‘B’ H$s 

bmJV < 65,000 h¡ & XmoZm| _erZm| H$s Am`w 5 df© h¡ & 

ny±Or H$s bmJV 10% h¡ & XmoZm| _erZm| Ho$ A§Vdm©h ZrMo 

{XE JE h¢ : 

df© _erZ ‘A’ (<) _erZ ‘B’ (<) 

1 14,000 22,000 

2 16,000 20,000 

3 18,000 18,000 

4 20,000 16,000 

5 30,000 20,000 

 < 1 H$m PV \¡$ŠQ>a 10% ny±Or H$s bmJV na 5 df© Ho$ 

{bE H«$_e: 0·909, 0·826, 0·751, 0·683 Am¡a 0·621  

h¡ & XmoZm| _erZm| Ho$ {Zdb dV©_mZ _yë` VWm bm^àXVm 

gyMH$m§H$ n[aH${bV H$s{OE & 20 

5. (H$) bm^m§e Ho$ Ad{eîQ> {gÕm§V H$s ì`m»`m H$s{OE & 10 

(I) eo`am| H$m dm{ng H«$` Š`m h¡ ? eo`am| Ho$ dm{ng 

H«$` Ho$ VarH$m| VWm à^mdm| H$s ì`m»`m H$s{OE & 10 
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6. H$m`©erb ny±Or Š`m h¡ ? H$m`©erb ny±Or Ho$ {d{^Þ àH$ma 

H$m¡Z-go h¢ ? H$m`©erb ny±Or H$mo à^m{dV H$aZo dmbo {d{^Þ 

H$maH$m| H$s MMm© H$s{OE & 20 

7. (H$) amoH$‹S> aIZo Ho$ {d{^Þ A{^àoaH$m| H$s ì`m»`m 

H$s{OE & 10 

(I) àmß`m| Ho$ {Z`§ÌU H$s {d{^Þ VH$ZrH$m| H$m dU©Z 

H$s{OE & 10 

8. (H$) BÝdoÝQ´>r à~ÝY H$mo à^m{dV H$aZo dmbo H$maH$m| H$s 

ì`m»`m H$s{OE & 8 

(I) \$moa\o$qQ>J Š`m h¡ ? \$moa\o$qQ>J Ho$ H$m`© VWm 

{deofVmE± Š`m h¢ ? 2+10 

9. {ZåZ{b{IV _| go {H$Ýht Xmo  na ì`m»`mË_H$ {Q>ßn{U`m±  

{b{IE : 10+10 

(H$) gmI Zr{V 

(I) {ZpíMVVm g_Vwë` {d{Y  

(J) Omo{I_ ny±Or 

(K) A§VanUZ _yë`-{ZYm©aU {gÕmÝV 


